Warm up Problems
(542-12)(6x)- (2x°)(12%)
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3. Find the equation of the line tangent to
f(x) =e*(x*—5)atx = 1. £()ze'(1-5) -,
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Trigonometry Review:

1 sin®x + cos?x = 1
sec O =
cos 6
1 Sin2x = 2sinx cos x
csc O = —
Sln9 2 . 2
. COS 2X = COS“X — Sin“x
9 sin @
tano = = 2cos’x — 1
otg = 208 0 = 1 — 2sin®x

sin 6



Trigonometric Functions

d d 5
—sinx = cos x —tanx = sec® x
dx dx
d _ d
—COSX = —Ssinx —secx =secxtanx
dx dx
d 2
—cotx = —csc4x
dx
d
—(CSCX = —Ccscx cotx

dx
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Ex. Prove —tanx = sec? x
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Ex. If y = x?sinx, find y'.
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EX. Find an equation of the line tangent to
y =cscx at x =%.




Ex. On the interval [0,27], find all values of x where

SEC X . .
fx) = o has a horizontal tangent line.
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